Tekst 9

1p 32  What does the writer of this article say about Michael Gove in
paragraph 1?
A He has been criticised for underestimating the waste problem.
B He has come up with an insufficient proposal to reduce waste.
C He has introduced an inexpensive scheme to tackle waste.

1p 33 Kies bij _33 in alinea 2 het juiste antwoord uit de gegeven
mogelijkheden.
A can be reduced easily
B is chemically unstable
C needs to be researched
D sticks around for centuries

1p 34 What is the main purpose of paragraphs 3 and 47
These paragraphs are meant to make clear that
A a material that can safely replace plastic has not yet been found.
B people who are overexposed to plastic can become allergic to it.
Cc the plastic waste in the environment is probably bad for our health.

1p 35 Which of the following best characterises paragraph 57?
A It explains that restricting the use of plastic is quite complicated.
B It makes clear why people are unwilling to restrict the use of plastic.
Cc It shows we have taken enough measures to restrict the use of plastic.

1p 36 Welke zin past bij __36 _ als afsluitende zin van deze tekst in zijn geheel?
A Itis not enough to return a few plastic bottles.
B There is no time to develop an alternative.
c We are slowly heading in the right direction.

Tekst 10

1p 37 Wat wordt in dit artikel duidelijk over de anti-vogelpinnen?
A Die bedreigen het voortbestaan van de lokale vogelpopulatie.
B Die werken beter dan andere maatregelen om vogels te verjagen.
¢ Die worden door de gemeente op openbare terreinen geplaatst.
D Die zijn de oorzaak van een burenruzie in een wijk in Bristol.
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